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19. Silas Corporation had net income of $200, 000 and paid dividends to ordinary
shareholders of $40,000 in 2011. The weighted average number of shares outstanding
in 2011 was 50, 000 shares. Silas Corporation’ s ordinary shares are selling for $60
per share on the New York Stock Exchange. Silas Corporation’ s price-earnings ratio
is (A) 3.8 times. (B) 15 times. (C) 18.8 times. (D) 6 times.

20. All of the following statements about free cash flow are false excepr: (A) Significant
free cash flow indicates less potential to finance new investments. (B) Free cash flow
1s most commonly calculated by subiracting capital expenditures from cash provided
by operations and then adding cash dividends. (C) Free cash flow is not reported on
the statement of cash flows. (D) Significant free cash flow indicates less potential
to pay additional dividends.

21.Gowns, Inc. uses the percentage of receivables basis to estimate its bad debts. At
December 31, 2011, Gowns estimates total bad debts that will become uncollectible in
the future as €4, 456. The existing balance in the Allowance for Doubtful Accounts
is a credit balance of €1, 056. The Accounts Receivable balance at December 31, 2011
1s €79, 200. The amount of the bad debt ad justing entry at December 31, 2011 will impact
the statement of financial position accounts by (A) Increase expenses by €4, 456.
(B) Increasing the Allowance for Doubtful Accounts by €4, 456. (C) Increasing
Accounts Receivable by €3,400. (D) Increasing the Allowance for Doubtful Accounts
by €3, 400.

22.Which of the following adjustments would require decreasing the liabilities reported
on the statement of financial position? (A) A company uses $400 worth of supplies during
the year. (B) A company records $400 worth of depreciation on equipment. (C) A company !
has earned $400 of revenue collected at the beginning of the year. (D) A company records
$400 of wagés earned by employees that will be paid next yeer.
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23.

25,

26.

Widner Company understated its inventory by $10, 000 at December 31, 2010. It did not
correct the error in 2010 or 2011. As a result, Widner's equity was: (A) understated
at December 31, 2010, and overstated at December 31, 2011. (B) understated at December
31, 2010, and properly stated at December 31, 2011. (C) overstated at December 31, 2010,
and overstated at December 31, 2011. (D) understated at December 31, 2010, and
understated at December 31, 2011.

.If a loss of $20,000 is incurred in selling (for cash) office equipment having a book

value of $80, 000, the total amount report~d in the cash flows from investing activities
section of the statement of cash flows is (A) $60, 000. (B) $80, 000. (C) $100, 000. (D))
$20, 000.

Cara, Inc. purchased a building on January 1, 2011 for & 500,000. The useful life
of the building is 10 years. The asset is reported on the December 31, 2011 statement
of financial position at £ 450, 000. What was the impact of the ad justing entry recorded
by Cara, Inc.? (A) Decreased Equity & 50,000. (B) Increased Liabilities & 50, 000.
(C) Increased Assets £ 50, 000. (D) All of the choices are correct regarding the impact
of Cara, Inc.’ s adjusting entry at December 31, 2011.

On October 1, 2011, Holt Company places a new asset into service. The cost of the asset
1s $80, 000 with an estimated 5-year life and $20, 000 residual value at the end of its
useful life. What is the depreciation expense for 2011 if Holt Company uses the

straight-line method of depreciation? (A) $3, 000 (B) $16, 000 (C) $4, 000 (D) $8, 000

. Barr Company acquires 60, 10%, 5 year, €1, 000 Community bonds on January 1, 2011 for

€61,250. This includes a brokerage commission of €1, 250. The journal entry to
record this investment includes a debit to (A) Debt Investments for €60, 000. (B) Debt
Investments for €61, 250. (C) Cash for €61, 250. (D) Share Investments for € 60, 000.

. In the month of November, Coler Company Inc. wrote checks in the amount of $18, 500.

In December, checks in the amount of $25,316 were written. In November, $16,936 of
these checks were presented to the bank for payment, and $21, 766 were presented in
December. What is the amount of outstanding checks at the end of Novemper? (i)
$7,1008 (B) $5,114 (C) 3,550 (D) 1,564
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29. Topeka Bike Company received a $940 check from a customer for the balance due. The
transaction was erroneously recorded as a debit to Cash $490 and a credit to Service
Revenue $490. The correcting entry is (A) debit Cash, $940; credit Accounts Receivable,
$940. (B) debit Cash, $450 and Accounts Receivable, $490; credit Service Revenue, $940.
(C) debit Cash, $450 and Service Revenue, $490; credit Accounts Receivable, $940. (D)
debit Accounts Receivable, $940; credit Cash, $450 and Service Revenue, $490.

30. Yanik Company” s delivery truck, which originally cost £ 56, 000, was destroyed by fire.
At the time of the fire, the balance of the Accumulated Depreciation account amounted
to £38, 000. The company received £ 32,000 reimbursement from its insurance company.
The gain or loss as a result of the fire was (A) £24,000 loss. (B) £14,000 loss.
(C) £24,000 gain. (D) £ 14,000 gain.
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